Math 001-04, Quiz 3 (1.1-1.3), Term 152 , Instructor: Sayed Omar, Pagel 05-Mar-16
Serial #: ID NAME
Show all necessary steps for full marks.

: x -1
Question 1: (6 points) (1.1 Textbook Exercise 54): Solve 2—: 2x —a for x =?
a

Solution:
54. Ll S
2a
Za[x_]}: 2a(2x—a)
2a

x—1=4dax-2a’
v=4dax—2a" +1
x—dax=-2a" +1
x(1-4a)=-2a* +1
~2a*+1_1-2a*
|—da  1-4a
Question 2: (7 points) (1.2 Textbook Exercise 13): The perimeter of a triangular plot of land is

2400 ft. The longest side is 200 ft less than twice the shortest side. The middle side is 200 ft
less than the longest side. Find the lengths of the three sides of the triangular plot.

Solution:

X =

13. Let x = the length of the shortest side.
Then 2x — 200 = the length of the longest side
and the length of the middle side is
(2x = 200) — 200 = 2x — 400.

The perimeter of a triangle is the sum of the

measures of the three sides. X 2x —400
X+ (Zx - 2(}(]} + (2,1:' - 4(](]} = 24(0)
x4+ 2x =200+ 2x— 400 = 2400 2x — 200

Sx — 600 = 2400
Sx =3000 = x =600

The shortest side is 600 ft.
The middle side is 800 ft.
The longest side is 1000 ft.

Question 3: (7 points) Write the complex number \/Eﬁ +iP in the standard form and find it
conjugate.
Solution:
2B () ()R
1+1 - 1+i - 1+i
A+ (DI 4-i (H4-i)(@A-i)  4+4i-i+i® 543 5 3.
1+i 1+i (1+i)(1-1i) 2 2 2

The conjugate is: —E—Ei
2 2
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